FHAEE BEGHEREAREASYvI—BE B

B &

B BEmIIbEREE (RASE1HKE) .
Eoft BT (RASFE2HRK) s
E3hr  BEETHILALRE P FER (BXEEIRRK) 173
B3 AFREHEFHBHBEDIER(BRXEFEIREK)
E5FZ BRI T D (BXEHESRRK) ]
: I : F:?
1—0
1—0
2 T
a I
5 0 0 s B B
4—0 0—1 CE
1-0 0—2
9 0 1 0 3 0 2 0
5—0 1—0 3—0 0—0
4—0 0—0 0—0 2—0
3 3 0 0 7 2 1 10 0 2 0 5 0 2
—0 T—0 0—2 0—1 5—0 0—1 0—1 0—1
-3 2—0 0—5 2—0 5—0 0—1 0—4 0—1
5
2 3 4 5 6 7 8 9 13 14 15 16
X B & R KW T # i iw £ B B A3
— A Al U\ w e
2 g i = /S P it TR NI = i
o b o o oh o o oo o o



SES0EA B R PFIRMBERFTRI T vh—mEiER

1 REreh (2 A [3 A#E | /R |[#BERERL
1 KEep 0—3 0—4 0 -7 0 3
2 RAD 3—-0 1—1 4 3 4 2
3 ARA#Erh 4—0 1—1 3 4 5 1

RSB AEDORERE. L EDBYBREWN-LET,




PR 2 AMERE A4 9 T T HIK PR AR E
W B RS A A

e BoKN— RN T s AR—Y TR

10:00

E
WENEBRER N




Fr245E BEhthR e
$®—5 (16H)

<ATOyo>
AD AR 3 - ope EH—

142 AlFg 260 BH—
<B7AOwvy>

i LA FHE—  |ma|ea|xn b5
50| EHMA O 4- 200 5 - of 6 9of 2| 7| 1
BQ® L EH ® 2 - 4 O 3- 1| 3 5 5 0 2
B3| H¥E— |@ o- 5@ 1 - 3 ol 1| 8| -7 3

REb—FAR(17H)

3| o B AT o

L 3 #£E2 BHond

* 2F— LR KR HIG

3 = =
— [iic)

A1{i B2{i A2{L B1{i



T2 4FEE

1HHA T#E)—2

BT R PR S

iy 3

FBEREY Y h—mk KR

AY—Z
7K N oK R KR E | WS B k| SR E
3 072 070 B
1 K N 0(0 2)40(0 2) 0 0 6 6 3
3 2 0 0 0
2 KR 4(2 O)o 2(2 0) 6 6 0 6 1
3 AR [2(2-%) 000022 s 2 2 0 2
2 0 0o 2
BY—7%
= i Aif N L oy | | AL | R B |
. 1 0 0o 2
4 il 3(2—0>oo<0—1>3 3 3 3 0 2
. R 0 1 0 4 _
5 |l 10 ( 0 o ) 3 0 ( 0 5 ) 9 0 12 12 3
A 2 0 4 0
6 4 7 IE |3 ( ) 09 ( ) 0 12 0 12 1
1 0 5 0
cCY—7
F #R H r o — /N | sa | & R | Bk |
0 0 0 0 B
8 1 #F H 0 (o) OfL (=502 1 1 2 1| 2
N . 0 0 0 0 _
9 JL 0(0 O)O 1(1 3>3 1 1 3 2 3
0 0 0 0
10 /] ([l 2<2f1)13<3—1)1 6 5 2 3 1
2HRB BB F—F A b
B3 RER T BEBS - e BN ST
0 N A
247 ¢ He BN
0-0 FUKIR Hrease
ol Ao | 37 1 K IBFHT ST
& o e
0-0 T-0 T 1 BN T ST
0-1 3-0 4-0 A
K F o SRR
AN
x 0 2 #
K it B " B
R 5



TH24EE -

- KA X

PEREEARERS

Hyh—ER

] K £h B¥ ZRE |wmoa| ar | x5 |Bxs| B
g o L2 To|r [ Tolw [79 Tofs [13 To) e | n |6 | o]
xF |0 158 10 o [0 Talo T2 To|o [t To) o | o | @ |-ea] 5
25 |0 [ 1o [ 1o L LD Tofw £33 To| o | w | v |2
BF |0 [2 Do)t [ oo [L 1 SERST 11 VS (PN Rl Y
ZFAE |© [ Izjs [0 1o [os I [on 1o 2 | o | 2 | —ea| 4
2 M KEBETIIFEPFR  (BE—HRK)

BB EATMIEAPFR

(EZRKR)




E2458F —BEihFPhERBEATXRKE Yyh—HREER
FEY—5
AJOwvs
. x| T mm
LB s LR R —RBAhE 9| a % v
7= T =0
L B Toy g 210 g g2 0 12 ]-1]1]3
A
=0 0 -2
gl (-0 ] 0 g _o ? ol1]23|-1]3]2
O [ }
=0 70
—me|0 Co-o0 92 ‘9g-o’ ol 2lol2lal1
A
BJ7Owvs
. . sz 0 m]m
it 2 b B i spd Rk 9| a % v
T=0 5 =0
B e 2 2 Gy 97T oy ololol1|sls6]1
O
0 =1 0 =1
mEmeg|0 (o0 - 1 2 oy 2o ! s 2] 1|2
[ ] A
. saga (0_6)71(1 0)
R ch 2 1 - 1 0 — 1 111 l2ls]l=6|1]3
[ ]
cawvsy
p | m
A hEE SRR Ll s slal T x B8
T % = Y3
T =0 T =0
$AEh 2k B tg_g) Ot oy _ g2 0 olol16|o16]s6]1
O
=9 7 -9
sk’ ‘o-6’ P 0 g _5) ™ ol 2] 0|2]-290] 013
[ ] [ ]
g0 Q700 s (200,
HILhEH 0 -1 5 -0 o 1|14 1|13]3]|2
[ ]
DJ7awvsy
. =
AT TR hh FREDEH ala|R X B p
T % = Y3
=0 T =0
AT 2 2 Gy o) ot oy ol 1ol sl 1] 2]al2
A
0 =1 0 =1
eamek|® 0- 1’ 2 0 g5 6 olz2|ols|-8|0o]3
[ ] [ ]
saga (0_0)16(1 0)
F R 1 -1 5 -0 tlo|l 711161 41|1
A




R r—F A

(g
6 PK 7
—BthE
AJOvo 14
R
g B —p
2461 aFRiL
$E 346t —Bth
$E 346t —Bth

0 - 1
0(y = |

) o

MtE i

B7OwY 14

kva FOHE

3 —BE-—SEPRARE

kv3 FEx

iL — B

E3.— PRl

0 (g Z 3)4

—BathEER F

FOEhER
covwy 14k

Tt

hZ#e

D7OvwY 14



W2 4FE SUBRPPERE

[Ty

Ty N—@Ek #iBR

&

BA

P
AN

Al KmiE |B TRl C| KhiE-—|D BH-— Ba |REs|RkA|Bka| IBAL
@) X X
KA 6[4—0]0 [1—2]3 1[1—1]2 3 8 5 3 3
2 -0 0- 1 0 - 1
X X X
TRl 0[0-—4]6 0[0-—4]8 1[0-—3J6 0 1 20 | -19 | 4
0- 2 0- 4 1-3
@) @) @)
KRR — 3[2-1]1 8[4-0]0 3[3-0}0 9 14 1 13 1
1-0 4 -0 0-0
O @) X
=H-— 2[1—111 6[3—0]1 0[0—3]3 6 8 5 3 2
1-0 3 -1 0-0

B : ¥24F68168 () ~178 (B)

=B ARERSRI SOV F

ok AMET S B — P




Bk 24 4ERE

BRI FERERERS Y v V—Hitk &R 6H13, 14H) R EZFR7y bAR—nkrZ—

O x| @ KM © HE—F |@ St | OFAR | OF8 | KA | OfkaE AT
1-0 O 0—2 x 11-0 O
@ _
0=0 0=0 170 6 12 2 +10 2
i R N
0—1 X 1-7 X 12-2 O
@ ~0—0 I 1—4 ) 10—1 3 13 10 _|_3 3
Rl 0-1 | 0—3 2-1
2-0 O 7—1 O 11-0 O
E: - 1070 | =1 1570 9 20 1 +19 1
R 2-0 | 30 | 6—0
0—11 x_ [2-12 x  |0-11 X
@i - 40-7 1 1—=101 {0_5]» 0 2 34 —32 4
SR 0—4 | 1-2 | 0—6




